
The expected result is this:

_____________________________________________________________________
This is a markdown table

|  one  |  two  | three |
|-------|-------|-------|
|   1   |   2   |   3   |
_____________________________________________________________________

But the carbone result is (using convCRFL()):

_____________________________________________________________________
This is a markdown table

| one | two | three |
|-------|-------|-------|
| 1 | 2 | 3 |

_____________________________________________________________________

and (without using convCRFL()):

_____________________________________________________________________
This is a markdown table | one | two | three | |-------|-------|-------| | 1 | 2 | 3 | 
_____________________________________________________________________


